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Topic:- General Knowledge and Logical Knowledge

1) Who has been selected as the new Vice Chancellor of Nalanda University? / E:I'E[ ¥ e AAreiar

fayferemera &1 7an aTgw wiveR (@ Iupaufa) Frge fearmar g
1. Vijay Bhatkar / faorg Hedx

2. Sunaina Singh / G 8

3. George Yeo / St et

4. Anup Bhatnagar / 3{TU HCATR

Correct Answer :-

 Sunaina Singh / ﬂﬁ:ﬂﬁrﬁ

2) city will host the 105" Indian Science Congress (ISC) in 2018. / g, 2018

~N

H 10579 YR A9 FU9 (SMSTHA) $ ASEFT S|
1. Bhopal / T
2. Surat / §Xd

3. Raipur /XAYX
4. Hyderabad / %GQIEIE

Correct Answer :-

o Hyderabad / %auala

3) Who is the Chief Minister of Uttarakhand state? / SERIGS Y %? 'ﬂ'@'ﬂ?ﬁ ﬁq%o
1. Harak Singh Rawat / X ﬁl_s’ [dd

2. Prakash Pant / TbT=I Ud

3. Yashpal Arya / URTUIA 3

4, Trivendra Singh Rawat / o= Rig Tad

2)



Correct Answer :-

» Trivendra Singh Rawat / 05 g Iaa

4) If three unbiased coins are tossed, then what is the probability of getting one head? /‘Tﬁ' Gk

freger Rige) o IS SITaT 8, 9 U 2N Ut g9 F1 . uriieedr 82

N

o |

oA | L

Correct Answer :-

5) 1f the third day of a month is Monday, which of the following will be the fifth day from 215 of that

%glg%uﬁnﬁﬁm?ﬂwﬁ?@w%,ﬁmﬁﬁﬁ,nﬁ%aﬂuﬁmﬁm

1. Tuesday / HICIAR
2. Monday / IR

3. Wednesday / YA
4. Thursday / [&dIRX

Correct Answer :-
» Wednesday / YUY

6) Which of the following state governments announced a complete ban on polythene bags in May

_2%017? / Frefafea § 3 f5a 3™u WReR A w13 2017 A uiferdi= 9 R yof ufasy & ewon <t

1. Chhattisgarh / @Trﬂw
2. Maharashtra / HeIR[S
3. West Bengal / Uiy sre
©)



4. Madhya Pradesh / H&] e

Correct Answer :-

e Madhya Pradesh / H& e

7) Which country hosted the T20 Blind Cricket World Cup in 2017? / 2017 § {3 =1 7 20 <ES
fordhe acs U Bt AN PI?

1. Australia / &ﬁ@;ﬁﬂ:ﬂ
2. India / HIRd

3. Sri Lanka / & TahT
4. Pakistan / GTfopd=

Correct Answer :-

o India/ HRd

8) If ENGLISH is coded FOINLVL, then how is HISTORY coded? / af¢ ENGLISH® FOINLVLY
PHIfSd fHTT1 SITdT 8, 9 HISTORY &) H SifSd fbar Sram?

1. IJUVRUD
2. JUWRUC
3. IJUVRUC

4. IJUVRUB

Correct Answer :-
« IJUVRUC

9) If STATUE is coded NOVOPZ, then how is DIRECT coded? / 9f¢ STATUE® NOVOPZI
PIfSd foaT STd1 7, 9 DIRECT S B Bifed fopar @

1. ZDMZX0
2. ZCMZX0
3. YDMZXO
4, YCMZXO

Correct Answer :-

« YDMZXO

(4)



If CORNER is coded GSVRIV, then how is CENTRAL coded? / Gf¢ CORNER &1 GSVRIV I

FifSd fHar 9TaT B, @ CENTRAL Y &9 SIS forar smamm?
1. GIRXVEP
2. GNFJKER
3. DNFJKEP

4. DFOUSBM

Correct Answer :-

¢ GIRXVEP

11) George is fifth from the left, and Peter is twelfth from the right end in a row of children. If Peter
shifts by three places towards George, he becomes tenth from the left end. How many children are

there in the mw?/aa‘raﬂu%rﬁ,mﬁmﬁm%aﬁ?wm@?ﬁwél Tlﬁ'tﬂ?{,
gﬁaﬂaﬁvﬁqmaﬁaﬁ%?ﬁaﬁwmﬁmﬁm%lﬁﬁﬁaﬁmﬁmﬂ

1. 24
2.23
3.21

4.22

Correct Answer :-

12) If MYSORE is coded OREMYS, then how is CRADLE coded? / afé MYSORE &I OREMYS I

PifSd far oITaT 8, @ CRADLE &) $ difsd foar S
1. DLECRA
2. CRAELD
3. ELDARC

4. ARCDLE

Correct Answer :-

13) Select the option that is true about the Statements and Conclusions given:

Statements:
All cowgirls are extraterrestrials
Some cowgirls are not hamlets

®)



Conclusions:
I. Some extraterrestrials are not hamlets
I1. All hamlets are extraterrestrials

1 39 T T aa- BT o 7 fau e Syl iR freput & Ik | 98 &:

DY:

Tt BT TRIE

TS DI IUATH el &

Ercad

L. $ RIS SUITH 751 §

1. 9 ST R

1. neither conclusion I nor conclusion II follows /1 &1 fA5HY 1 3R 1 € et 11 31TERUI vl &
2. both conclusion I and II follows / FSHY I 3R 11 GFT TR0 HRd §

3. only conclusion II follows / A [T5HY IT S{IERUI BT &

4. only conclusion I follows / Bhdd ey 1 SIFIR0 FRATE

Correct Answer :-

« only conclusion I follows / $Had FTpY ST IRATE

14) Select the option that is true about the Statements and Conclusions given:

Statements:
Some acrobats are lambs
All lambs are soldiers

Conclusions:
I. Some acrobats are soldiers
I1. All lambs are acrobats

1 39 faeu &1 7= Bifre ot 7% AT g wy= ok frewel & s & w8l &:

Y

PO T HAT 8

it AT A §

e

1. 9O e e §

1. I AT e §

1. neither conclusion I nor conclusion II follows /7 8} Feert 1 3R 71 & s 11 STERUT vl §

2. both conclusion I and II follows / TS 1 3R 11 GH SR A &
i - ) .



3. only conclusion IT follows / ad FSHY 1T SFTERUT Sl §
4, only conclusion I follows / Bad F5HY I SFITRVT HRal &

Correct Answer :-

« only conclusion I follows / Had T 1 ST WT%

15) Select the option that is true about the Statements and Conclusions given:

Statements:
No fruit flies are catfishes
No elms are fruit flies

Conclusions:
I. All elms are catfishes
II. Some fruit flies are catfishes

1 38 faea o1 79+ BT it 7 AT 7T w1 iR frepul & ok & |8t &:

YT

IS ToH BAHTRPT 81

Fryw:

L. 9t v beftpr §

1. $6 BAHIGDT Heth=I g

1. neither conclusion I nor conclusion II follows /= 1 fFtmt 1 3R 1 8t fAeepef 11 3FfaRUr %l
2. both conclusion I and II follows / 5B I 3R 11 H SRR B &

3. only conclusion II follows / Had 5HY IT 3{ITRUI BT &

4. only conclusion I follows / Had FHY I SIHRUT HdT §

Correct Answer :-

« neither conclusion I nor conclusion II follows /1 g1 fepd 1 3R 71 g1 fFAehef 11 3FJTRUT okl §

16) Select the option that is true about the Statements and Conclusions given:

Statements:
No insects are pants
Some pants are cowboys

Conclusions:
I. Some cowboys are insects
II. Some cowboys are not insects

/ 3 fareq &1 99 Hifere ot for Y e wy= 3k syl & ar & 98 8:
(7)



DY

I3 BIC TG T8l &

$O UATT 9418 ©

Froed:

L. $B TRATE Ble &

II. $O IGIg PIC T8l o

1. neither conclusion I nor conclusion II follows /1 & fA5BY 1 3R =1 & fseht 11 ST GRGN
2. both conclusion I and II follows / FTshY I 3R 11 Y TR HRd %

3. only conclusion II follows / Had FhY 11 ST TRAT T

4. only conclusion I follows / Hdd fSHY [ 3IERN HRT §

Correct Answer :-

« only conclusion II follows / Had TS 11 STIRTT BT &

17) If written backwards, the number 'Three thousand seven hundred and fifty two' would be

written as: / f¢ TS A ford, Y w191 89IR |AId 91 919 $I frd YR & for@n wime:

1. Five thousand seven hundred and twenty three / Ui Bullk dId ﬁf ?l‘é?r

2. Five thousand seven hundred and thirty two / U B9IR HTd T T
3. Two thousand five hundred and seventy three / &l §TR UTd 91 fagwR

4. Two thousand seven hundred and fifty three / Gl goIR 9Td I foRu

Correct Answer :-
« Two thousand five hundred and seventy three / Gl GoIR Uid I fagwR

18) In a certain code language, cam loe tri means died down he, moc tri jes means clouds pour down,
tri poz cam means down he goes. Which is the word for goes in that code language? / € WY G
1T ﬁ, cam loe tri®1 Y died down he, moc tri jes 1 3 ¥ clouds pour down, tri poz

gamw 3 down he goesTAT &1 59 IS HIUT H goes® TIT 5 Xreg BT TS fopar 1T

1. cam
2. poz
3. Joe

4, tri
Correct Answer :-
» poz

8)



19) The British defeated in the Battle of Plassey. / SR A Wit & & | Ca|
RIS

1. Aurangzeb / SIS

2. Siraj ud-Daulah / %RIGI-GEEWH
3. Mir Jafar / HIR SR

4, Tipu Sultan / TY Fea

Correct Answer :-

e Siraj ud-Daulah / [%I?IG-B%]F]I

20) In a class of 60, where girls are twice that of boys, Kamal ranked seventeenth from the top. If there
are 9 girls ahead of Kamal, how many boys are after him in rank? / 60 ﬁﬂ'ﬁﬁﬁﬂ@ﬁ&ﬂ ﬁ, o
asfedl, ae®! I g 8, FUa &) MY A Wergdl RIH U g3 31 9 $Ud I Ugd 9 asfebai
& O 9P 1C F Wl A dsd! o J@ fHanl 32

1.23

2.12

3.32

4.7

Correct Answer :-

21) Who is the chairman of Railway Board? /XAA IS & AT ﬁ‘l’%’-’
1. Ghan Shyam Singh /9 =g Rig

2. Ashwani Lohani / H%:ﬁ?ﬁfﬂ:ﬁ

3. Anil Kumar/GﬁﬁW

4. Amitabh Kant / TEdTH BT

Correct Answer :-

« Ashwani Lohani / \H%Fﬁé IEI;“

22) Find the odd one out: / T faUH JTd HIfeTE:
1. Patna / UcHI

2. Hyderabad / %aq dig

3. Nagpur / -TYX
_ 9)



4. Kolkata / ICIBId]

Correct Answer :-

e Nagpur / TYX

23) Madhya Pradesh has won national-level awards under the Sakshar Bharat Yojana in 2017. /

T R A 2017 § WIER WRA AT B i IR (R o &
1.3
2.6
3.7

4.4

Correct Answer :-

24) The Defence Services Staff College (DSSC) is located at . /&I JAGT TP Blasl

SLELEE]) qfem gl
1. Secunderabad / R eTdETG

2. Wellington / afciiTed

3. Ajmer/ 3THR

4. Bhopal / T

Correct Answer :-

« Wellington / afciTed

25) The headquarters of the Election Commission of India is located at i ?-ﬂ??ﬁ'qgflﬁ

TN BT &I A fRa gl
1. New Delhi / T3 feeai!
2. Kolkatta / ITpTdT

3. Mumbai /'Eﬁ%
4, Chandigarh / EE] e

Correct Answer :-

¢ New Delhi /:I—sffEQ‘_Q’ﬁ



1. British Officers / fIfe=T iRt
2. Doctrine of Lapse / SIUTTd &1 RIgT= @Eqﬁ’rﬁ)
3. Indigo Planters / 1d SRT HITCIb] @'@ﬁ@l’lﬁ'\ﬁ)
4. The Munro system /Eﬁﬁm

Correct Answer :-

« Indigo Planters / Td ST HIfI! (S1ST WicH)

27) Hindola Mahal is located at ./ %@WW ﬁ'@l’d%l
1. Patalkot / TTATI®HIC

2. Chanderi / El'éil

3. Mandu / IﬂTﬁ

4. Khajuraho / WYX g

Correct Answer :-

+ Mandu /HIg

28) Where is Kapil Dhara waterfalls situated? /W‘HRT EEECIGET R %?
1. Orchcha / 3{R&T

2. Dewas / 4T

3. Raisen / YA

4. Amarkantak / TR Ch

Correct Answer :-

o Amarkantak / 3R ch

29) In a row of boys, A is the thirteenth boy from left and D is the seventeenth from right. If, in this row,
A is the eleventh boy from the right, then what is the position of D from the left? /Fﬁ';ﬁ’;f 3%({3’7 ufe
#, A 9T T Aedi ASHI & ¥ 0 3¢ A g4l 31 afe, 39 ufR # A gI¢ & Reai dsHI3 dl D
P 91T 3R T Far FRufa g2

1. 12th

2. 60

3.7t

4, 10th

Correct Answer :-

(11)



30) The National Police Academy in Hyderabad is named after . /%ﬂﬁﬁ'ﬁ %mﬁtﬁm
THSHI BT & ATH W @1 T 8

1. Jawaharlal Nehru / STdTeR AT A8

2. Sardar Vallabhbhai Patel /Waﬁrmn's‘u%a
3. Lal Bahadur Shastri /WWW

4, Indira Gandhi /%’%’QTTIT%?[

Correct Answer :-
e Sardar Vallabhbhai Patel / TR&IR ac_vﬁ-[‘-ﬂ_ictléﬂ

31) 'Harit Diwali, Swasth Diwali’ campaign has been launched by i 'Eﬁ_d Eﬂw,
W fearet St & gRT ARY fFarmar 3|

1. Ministry of Culture /Wﬁfw
2. Ministry of New & Renewable Energy / a1 3R BT Sl HATT

3. Ministry of Tourism | e §aATeg

4. Ministry of Environment, Forest & Climate Change /q'qT_OITUT, mawmvﬁaﬁqm

Correct Answer :-

« Ministry of Environment, Forest & Climate Change /EI'CI'hTUT, CEIGEIRSNEIE uRdd HATeY

32) Who was the Mughal emperor during the rebellion of 1857? / 1857 & ﬁﬁ?% EaTF[ HITd HHIC
I A?

1. Aurangzeb / SR

2. Akbar Shah 11/ 3{heR R[TE I

3. Sirajuddaulah /ﬁITIT{fEﬁT‘ﬂ_G'

4, Bahadur Shah Zafar / d81gxR QT8 WY

Correct Answer :-

» Bahadur Shah Zafar / dglgx R0Tg WhY

33) International airport received the Cll National Award for ‘Excellence’ in Energy
Management. / RIS gaTS 31 P il YU & & H ISPyl & g e e
REPR UGH fHar |

1. Kochi / I
) (12)



2. Hyderabad / %EQIGIG
3. Bhopal / U

4, Chennai / é:rs‘

Correct Answer :-

e Hyderabad/ %3? diq

34) Which Indian Metro has become the “World’s First Green Metro’ for its eco-friendly Initiatives?/

e & 9 o A A s wafavor i sl & SR faRar &t ugdt W9 At o it g2
1. Kochi Metro / @ifed Bl

2. Delhi Metro / fawett Al

3. Mumbai Metro / §&% Ha!

4. Kolkata Metro / IcIebTall Tl

Correct Answer :-

« Delhi Metro / et At

35) Who among the following is a famous painter and has been honoured with the Shikhar Samman

in 19812 / 19§ @ DI U URI REeR & 3R 579 1981 & Rrer g 3 gwfaa foean wan
Y12

1. D.J. Joshi / 1.1, SRt

2. Vishnu Bhatnagar / ﬁml HeANY
3. Syed Haider Raza / ¢ g el
4, V.S. Wakankar / a“rw qIhUIh

Correct Answer :-

« D.J. Joshi / ST.Sl. SR

36) The Public Service Delivery Guarantee Act was passed in Madhya Pradesh in the year

/e Aar faaRur R siftffmm e wemrdad . o wifva fovar
1. 2012
2. 2008
3.2010

4.2014

Correct Answer :-

. 2010
(13)



37) Complete the series choosing the missing number: / & TG DR Y&l BT [T

PifoTe:
2,6,18,54,
1. 158

2. 162

3. 164

4. 160

Correct Answer :-

38) Complete the series choosing the missing humber: / &l =T EGET m G| T Eﬁﬁﬂ’.:
480,120,40,20, _

1. 10

2.20

3.5

4. 15

Correct Answer :-

39) Complete the series choosing the missing number: / T I8 B YT BT GRT HIOTC:
121, 143, 165, , 209

1. 188

2. 187

3. 190

4. 186

Correct Answer :-

40) The series given below contains a sequence of humbers. Identify the incorrect combination:

/ R & e e §, Gensl $1 P HH IR Tl Tad Yo ggane:
90, 66, 45, 28, 15, 6, 1

(14)



1. 28
2.6
3.45

4. 90

Correct Answer :-

* 90

Topic:- Mental Ability and Mental Aptitude

1) In covering a certain distance, the speeds of A and B are in the ratio of 3 : 4. If B takes 30 min
less than A to reach the destination, the time taken by B to reach the destination will be: / T
TP T A E AR e PI A@3: 4 F AUIA A 31 S iqa ar UgaI H e BT AW 30
e o0 @4 & @) Tiqey 9% ugd § B B JHY T

1 .
hr/2 T

2 22
2

bt |

1.

1

1=
2

hr/ 1l T
2, 2

3.2hr/ 29

4,1hr/ 149el

Correct Answer :-

2) Find the average. / 3Nua R

82, 84, 88, 96, 76 & 72
1, 81
2. 85
3. 83

4, 86

Correct Answer :-

(15)



In the sequence shown below, which figure comes next? / 1 fed T %y ﬁ, 3TeA G'HTPCT
BT T AT

IY 00 0 i
=LY Tl ooo ,
eoe O o::0

! 1%

XY
.‘ [ R]

Fon
o0

L&
00
L JGE

= e |
an
Hria

2 X
eee
00

4.

Correct Answer :-

200
I
o0

4) In the sequence shown below, which figure comes next? / = ﬁ'& ™ HH ﬁ:, 3Tl

SATHid DI A M

) .
', g
TR

(16)



1. ¢

a .
T
L

Correct Answer :-

]
i

b

5) The series given below contains a sequence of alphabets and numbers. Identify the
incorrect combination: / i<l EﬁTl_sc m ﬁ, 3eRY 3R T3t WWW%%I Ted
LUIEE UgdIg;

i.gghjb3001jbhbb

ii.gghjb3001jbhbb

iii.gghjb3001jbhhb

iv.gghjb3001jbhbb

1. iii

2.iv

3.1

4,1

Correct Answer :-

6) Raju’s brother was 4 times older to him 8 years ago. His brother would be 2 times older to him
four years from now. Find Raju’s age. / IS &1 TS, 8 T4 Yd 3T 4 TAT g1 4TI 3+ & I a9
YT SAPT HTS S 2 AT TST T | IS BT Y F1d Be |

(17)



1. 16
2. 14
3.8

4. 32

Correct Answér -

e 14

7) FindAandB,if2A+3B=21,A—B=3./qﬁ'2A+3B=21,A—B=3 ?ﬁA&ﬁ?Bsnaﬁ|
1.3,6

2.9,6

3.6,3

4.12,9

Correct Answer :-

8) If the following two squares shown below overlap, which one of the following options is

formed? / gf¢ F°ra 3t ot sifvanita gid €, df A & A &9 91 U fapey aar 82

&
*l _ L ]
b ‘
|
L
1.
&
2.
ilA
v
3.

(18)



44

L)

Correct Answer :-

¥

9) When a picture was marked at Rs. 90, it was sold at three-fourth of its marked price. Find the sale

price of the picture./W%WQOWW%@,W@WW@W—%WW@W
TR 7| i 1 s g 9rd &1

Rs_ss1 ,!881 T
1, 2 2
J10 1

Rs.67— /67— BOI
2. 2 2
1 1

Bs. 99— /99— B9
3. 2
I

Bs77= /77— B9
4 2 2

10) In a class, each student had enrolled either for French or German or for both. The nhumber of
students enrolled for French is two times the number enrolled for German. The number of students
enrolled only for French is three times the number enrolled only for German. Which among the
following is a possible number of students enrolled for French? / T B ET 'Ef, TP BT 3 a1 ol e a1
S a1 g & fore A feraaman o) g & i v fora™ ara o1, s+ & o v o
Il A SR B 1 aa % & Fe T R ard 81 Saa wHe & g 7w e aral @ i
1 € | Fferfaa & @ tha & foe surfaa foras o = - feraaran 82

1. 67
2. 45
3.38

4. 48

Correct Answer :-



11) Find the value of: / HTH JTd H¥:
(5*2)-5+((20/ 4) /10)

1.5.5

2.20

3. 10

4.2

Correct Answer :-

12) The difference of two numbers is 12 and 20 % of their sum is 12. Find out the numbers. / Eﬁ

TR3fl BT 3R 12 § 3R 7P TNTHE BT 20% , 12 ¥ | TS A HR |
1.30and 18 /30 3R 18
2. 36 and 24 / 36 3R 24
3.38and 36 /38 3 36

4, 44 and 32 / 44 3R 32

Correct Answer :-

« 36and24/36 3R 24

13) Twelve men can do a piece of work in 10 days. After they have started for 6 days, 4 more men join
them. How many days will the men take to complete the remaining work? / 12 =9 Wﬁﬂfﬁ 10

a1l & % o d &1 3% GRI BT URY H & 6 f7 U, 4 3R [0 3710 A1 =TS 81 571
&1 Y &1 /9 FRE Bt B3 | fpan i e

1.2days/2ﬁ:f
2.4days/4ﬁ_"f
3.5days/5ﬁ71r
4.3days/3ﬁ(—"f

Correct Answer :-

. 3days/3ﬁ_"f

14) A 35 cm line is divided into two segments in the ratio 3 : 4. The length of the longer segment is: /

TS 35 QHI WP 3: 4 & JUTd W o el W fauTira fvar mar 81 99 ©s ot awTs &

(20)



1. 15cm /15 94t
2.18 cm /18 TH!
3.20cm /20 94t
4. 11cm /11 9T

Correct Answer :-

« 20cm /20 TH

15) Ratio of ages of three persons is 4:7:9. Eight years ago, the sum of their ages was 56. Find their

presentages./WW?&WWW&%Q%I maﬁqﬁ,wﬁmmaﬁww YTl
IS TAAT 3T AT B

1. 16, 28, 27
2. 16, 28, 36
3. 12,28, 36

4. 16, 35, 36

Correct Answer :-
e 16,28, 36

16) IfP:Q::2:7;Q:R::3:2;andR:S::1:4;then,P:S::?/qﬁ'P:Q::Z:7;Q:R::3:2;3ﬁ?R:S
::1:4;?‘ﬁP:S::?

1.3:28
2.3:8
3.2:8

4,2:21

Correct Answer :-

17) Goldberg sold his villa for USD 20,400 at a loss of 15%. What would have been the selling price if he

were to earn a profit of 15% on its sale? /Tﬁﬁaﬁﬁ' 3= AT B 15% ﬁaﬁr%ﬁwu 20,400
quast W 99 feanl afe 98 39 A wR 15 % a1y sifsta &% awar o1 af fassa g 1 givme

1. USD 27,600 / 27,600 JUHS!
2. USD 24,600 / 24,600 JUHS!
3. USD 24,000 / 24,000 JUIS!
4, USD 26,400 / 26,400 gUHS!

(21)



Correct Answer :-

« USD 27,600 / 27,600 JUIS!

18) The average of two numbers is 32. If 6 is subtracted from the larger number, then the ratio becomes

5 : 3. The larger number is:/abfﬂ"@TGﬁmﬁﬁ'ﬂ?HZ%l U%E@H@T'\QG@W%’HTWH#
U 5 : 3 8 ST &1 IS} TSI 8-

1.42.25
2. None of the above /mﬁ@ﬁgqﬁ
3.48.23

4, 52.51

Correct Answer :-
e 42.25

19) The length of a rectangle increased by 20%, and its breadth decreased by 20%. What is the change
in its area? / T ST P AATS 20% TP TETS TTA! & MR IAD! TSI 20% TF TT & STt 2|
IS eAmd A foraan ufkaed= givme

1. No change/ﬁgqﬁaﬁqﬁ
2. None of the above /mﬁﬁmqﬁ
3. Decrease by 4% / 4% qD HH

4, Increase by 4% / 4% Wﬁ[@

Correct Answer :-
e Decrease by 4% / 4% qd HHI

20) Susan got married 6 years ago. Today her age is 1% times that at the time of her marriage. Her son is
1/6 as old as she today. What is the age of her son? /'{[ﬁq Fifaaree aﬁq‘?f'g'al'l'l 3T STPT 3Ty,
SIS IR & THIH 1 % TAT 8| STBT T SUD! 3TN B 3R BT 1/6 & | STP TF DI 3T FT3?

1.6
2.5
3.3

4.4

Correct Answer :-



21) A and B start from the same place at the same time, and in the same direction with the speed 40
kmhr and 45 kmhr respectively. After 2 hrs, find who will be ahead, and by what distance? / A Gﬁ? B,
UM I A, T G99 R 3R G0 o= 7 a0 fooedt ufa der 3R 45 foedh ufa ger wo=r: 3t
T & AT YR HId ¢ | G G UTd [T B fo DI 1 g 3R faasit g8t & St ghme

1. B, 20 km / B, 20 forHt
2.B,10km /B, 10 TopHl
3.A,10km /A, 10 THHT

4. A,20km /A, 20 fBHT

Correct Answer :-

« B,10km /B, 10 fHI

22) A buys a double bed for Rs. 2600 and sells it to B at gain of 15 %. B sells it to C at gain of 10 %. What
does B charge from C? / A, U S9d 98 I 2600 $UA | WIGAT § 3R B Bl 15% & aTH W o7 T
2IBSACH 10% S AU R IT AT 81 B ¢ I T Y[ob ferar g2

1. Rs. 2289 / 2289 SUY
2. Rs. 4289 / 4289 JUY
3. Rs. 1189 / 1189 ¥UY

4. Rs. 3289 / 3289 U

Correct Answer :-
« Rs.3289/3289 304

23) If a pen is sold at list price, it will fetch a profit of 20 %. When a discount of 10 % is offered on list
price, it will fetch a profit of: /q'% Th HAH Tﬁﬂ'—ﬂﬁ'ﬂ'ﬂ R fapa a?ﬂ' % a dg 20% DT dTH ETQTﬁI
T BT TR 10% BT Fe U™ Pt Sl € df a8 ST a1 7k

1.125%
2.8%
3.12%

4.10%

Correct Answer :-

24) A wire is shaped into a circle of radius 7 m. If the same wire is reshaped into a square, find the area

ofthesquare.lwmaﬁTﬁﬂﬂaﬂﬁGﬂT%?ﬁfﬁmmW%IW%E?ﬂmaﬁﬁb_{'\ﬁaﬂ
T 3R faar SITe ot avf &1 &% d [Td He |

1. 44
(23)



2.49
3.1

4.121

Correct Answer :-
o 121

25) How much will 15 men earn in 6 days, if 12 men earn Rs. 840 in 7 days? / 6 ﬁ*ﬁ' H15 WWT

FUTE, afe 7 f1 F 12 T 840 T4 FHHT 72
1. Rs. 900 / 900 U
2. Rs. 880 / 880 ¥UY
3. Rs. 940 / 940 ¥UY

4. Rs. 970 / 970 SUY

Correct Answer :-

« Rs. 900 /900 3UY

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

7 &3 0 9 ual & 3 R ol TR ua & St au 31 91 v T8 82
Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

(i) Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

(ii) Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

(iii) Michael U. Regina
Forsthavsstr. 14,

Friedberg Hessen, 61169



(iv) Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

4, iii

Correct Answer :-

27) Ravi starts from his house towards his school. After walking for 3 Km, he takes a right turn and
walks 4 Km. He once again takes a right turn and keeps walking. If he is now facing south, in which

direction did he start walking when he left home?/ﬁﬁmﬁﬂ?ﬁﬁﬁmaﬁaﬁ?mgl 3

it Tem & Uyt 91 9T godT § SR 4 fredt gaar 81 9 fiee & ard goar § ok gaar vear gl

%maﬁaf\&maﬁ 3R TTAT & &Y o1d 91 R | e U1 a9 39 S AT fa=m & T e
4

1. South / GI&mT
2. East/ Qﬁ
3. West/q'@ﬂ

4. North /3R

Correct Answer :-

e North /31X

28) Mallesh said to his son, “l was as old as you are at present at the time of your birth”. If the

Mallesh's age is 40 years now, the son's age five years ago had been: /Wﬁ 3T LE] I Del,
«TRTR O & T TR H IaT &t g1 T fora- 98 3i1e1 g1 81 1 afe 7exr &1 3y 3 40 99 &, <t
T B 37 Ui T4 gd 3T

1. 15 years / 15 G
2. 17 years / 17 T
3. 12 years / 12 ¥

4. 10 years / 10 g

Correct Answer :-

e 15years/ 15 g



29) The least number that must be subtracted from 316 so that the remainder is exactly divisible by 41

is: / T8 “gAITH BT fordt 316 A e gRTT o™t {6 Rwwd, 41 | qol wu A faunfora g1 9, 3:
1. 29
2. 17
3.23

4., 35

Correct Answer :-

« 29

30) The average age of a class of 30 students is 20 years. When 5 new students joined the class,
the average age of the class increased by 0.3 years. Find the total age of the new students. / 30

BT BT TP BT ¥, 3d 3G 20 T4 7 | 919 5 7T BT HETH S gId & o BT DI 3d 3
0.3 YT dP ¢ eIt ¢ 1 7T B DI 3RIT Mg F1d B |

1. 100 yrs /100 T
2. 120.5 yrs /120.53'&
3.110.5 yrs /110.5 Y

4. 115 yrs /1153'5f

Correct Answer :-

. 110.5yrs /110.5 4

Topic:- Science and Simple Arithmetic

1)
In a circle a eyclic quadrilateral PQRS has PQ) parallel to S and £5PQ =837 Then £Q will be:

{ T g H, Tk THIT TgeTs PQRS &1 PQ. RS & THTAR § a2 £8PQ = 83°%1 99 £Q glam:



Correct Answer :-

2) Simplify: / G3el &

a5

al®h5c2x( a®xb?)

-2 - -
a .nlb SC 2

- ol
aﬂ‘ b 10 2

2 -2

' ﬂ.'D blé e 2

Correct Answer :-

1

-1 —_
a.&bﬂc.;

3)
The sides of a triangle are x? -<dxy +7, 4x° +5xy + 3 and 8 -3x* +5xv. [ts perimeter will be: / Teh

P87t ST 8910 % xy +7, 45 +5xy + 3 TA § -3x7 +5xy § | ST IR gHEM:
1. 2x%+18

5 6Gxy+ 18

3. %+ 6xy + 15

4. 2xi+6xv+ 18

Correct Answer :-

2x>+6xy+ 18

4) In the given figure, BE|DF. 2AOB = 1107 then £OCF="? fl'?l'é 31@% HBE|IDF. £AOB =

110° g@rzOCF=?
A,
B o/ TE
D ¢ F



5) The quotient when 63> +6y - 12 is divided by (v-1) will be: / S 6y + 6y - 12 &Rl (y-1) &
T forar AT ot HaTthel BT

4, 6v: +6y+12

Correct Answer :-
. 6y’ +6y+12

6) A man is 26 years older than his son. In 3 years his age will be twice the age of his son.

The present age of the father is: /W&E’lﬂ\}mﬁgﬁ'\ﬁ% ?ﬂfa@%l 3 arcﬁﬁa'\qaﬁerrg
S T B AT | I &Y S | R 9 et omg B

1. 49 years / 49 ¥
2. 40 years / 40 GL}
3. 46 years / 46 GL

4. 42 years / 42 Gl

Correct Answer :-

« 49 years /49 GL

7) Find the amount on Rs. 32000, when compounded semi-annually for 1 % years at the rate

of 10 %. / 32000 TUY TR IR AT B, TGP 10% DI X | 1% T4 a@ d-aritie Tawgfa
TS gear g

1. Rs. 41044 / 41044 2UU

(28)



2. Rs. 39044 /39044 >4y
3. Rs. 37044 / 37044 %UU
4. Rs. 40000 / 40000 ¥4

Correct Answer :-

« Rs. 37044 /37044 ¥UU

8) Two dice are thrown in a single throw. What is the probability of getting a sum of 9? / a

U U 1 IR | b STd ¢ | TRTh S & U § 9 UTW 314 1 UTRISH T T 82

1
1, 12

1
5

|

Ol

4,

Correct Answer :-

9) Mangoes were bought at Rs. 72 per dozen and sold at the rate of Rs. 80 per 10. The gain

percent would be: / 3THI @I 72 $UT Ufd goi B g3 A WIGT AT TUT 80 TUT Ufel 10 P
X O 99T TAT | AT Uf=rd R :

3.17.5%
4,13 %
Correct Answer :-

33

o

w | =

10) The complement of an angle is one-fourth of its supplement. The angle will be: / b

DIV BT R TP HRD BT TH-AUTS giaT € | DI FHT:

(29)



1. 60°
2. 65°
3. 45°

4, 55°

Correct Answer :-

. 60°

11) The cube root of ( 0.512) is: / (0.512) BT T-THH &:
1.0.8

2.0.6

3.0.5

4. 0.7

Correct Answer :-

« 0.8

12) The total surface of a cylinder is 220 sqcm and its height is 6.5cm. Its volume is: / Th

AT BT Y 220 T AT B TUT TP ST 6.5 e 81 SHPT 3Maa o
1 220 25 em?/220.25 FEP

5. 255.1 em®/255.1 FAL

3, 250.25 cm® £ 250.25 THP

4. 210 5 em?/210.5 ¥HL

Correct Answer :-

- - P 3
. 25025 em?® /25025 THET

13) The difference of the largest possible 4-digit number (no digits repeated) and the smallest
possible 4-digit number (no digits repeated) will be: /gy T?R‘:pf TUTFI 4 3P P =T
(@IS 3P ST T8 WIY) 3R T DI THIAT 4 3P| $1 BT (PSP ST a1
WTT) BT 3R A BIT:

1. 7089

2. 9899

3. 10000
(30)



4, 8853

Correct Answer :-

« 8853

14) The smallest number by which 3150 should be divided to get the quotient as a perfect

square is: / W%wﬁwqﬁaﬁmwﬁ%maﬁm@ﬂmmﬁ,
oraes g1 3150 BT faurfora fosar siam anfge:

1. 14
2.7
3.21

4. 28

Correct Answer :-

15) The area of a rhombus is 36 sqcm and one of its diagonals is 4 cm. Its perimeter is: / Th

FHAGHS BT &7 36 I AlHieT § 7Yl 391 fawl 4 Héiier 31 sue uRwmu &:
1 85 cm /485 TET

2. V83 cm /83 AT

3. 2483 cm / 2+/83 AT

4,82 cm /82

Correct Answer :-

485 cm /4485 TAT

16) When all the parallel rays reflected from a plane surface are not parallel, the reflection is known
as: / ST9 G THMTR fH30l THaa U8 A wRiafdd gkt €, 9l & IHHER T8l I8! 8, I8 WIaa
9 U H ST ST 5:

1. Multiple reflection / a@%ﬁ TRIGTH
2. Diffused reflection / GG TRTad-
3. Internal reflection / 3T TRIaa-
4. Regular reflection / Fafta wrada

Correct Answer :-

(31)



« Diffused reflection / faafd yad=

17) Which of the following has a thin layer of cytoplasm with a large central vacuole? / ﬁ'TFF'I i3

s a3t Bt Rfsae arell ArseiqeTs]; @ o U Uadl u=d gidl 2
L. Bacteria/\_rﬂ_dT[[L

2. Virus / fas10]
3. Animal cell / U] PITRTeHT

4, Plant cell / UlgU HIRABT

Correct Answer :-
« Plant cell / OTGU HIRIHT
18) Which of the following is a neutral oxide? / fFafafaada CaC| Th m:l aﬁwss %?

1. SO,
3.CO

4. CO,

Correct Answer :-
¢« CO

19) Which one of the following is NOT a member of the solar system? / ﬁTIFT k) Cl R yorredt
HT TS A e 82

1. Comet / ?J]:fa')_gl

2. Pole star / §d dIRT

3. Satellite / 3UYUS
4. Constellation / ARTHES A

Correct Answer :-

« Constellation / dRTHSA

20) Loss of water vapour from the surface of the leaves is called ./ afral ot Hdg g

e 9Ty B & Fgar g
1. Transpiration / mﬂw
2. Transportation / uRagd



3. Translocation / YR

4, Evaporation / YU

Correct Answer :-

» Transpiration / am@agﬁq

21) A heavenly body burning like a star and rushing towards the earth is known as: / U SRR
fiis il ARl @1 ae oId 38T € 9YUT J41 B aRW 9¢ V8T 8, SU 37 A4 I SIH=1 o1’ B

1. Sirius / TR
2. Comet / W
3. Satellites / 3UUg

4, Meteor / 3ol

Correct Answer :-

¢ Meteor / Seh]

22) Why did Rutherford choose gold and not any other element for his experiment? / IEIWIS °

3 TANT & fore fordt 3 dcd 1 I g1 PP had WUl BT gl Ig i} fhan?

1. Due to its high conductivity / SHP| 3 ATAD T ob BRI

2. Due to its high density / 3% 3o Uicd o PRUI

3. Due to its high malleability / SH! I SMTATIFLIIAT & BRI

4. Due to its high ductility / STDI 3 T b BRI

Correct Answerﬂ -

« Due to its high malleability / STH| I ATATTIHIIAT & HRUT

23) Iron vessels are coated with tin to: / ?ﬁ% & U=l &t fo & wifta foar srar %:
1. Increase the strength / IITrITsKﬁ TSIE‘F“T & ferg

2. Increase weight / HIR A ?{@ FRA® 1%1'5{

3. Prevent rusting / ST Bt ABYTH B ]Q(“I'Q

4. Give better shining / 31?@0[ gqHD éef & 1%111

Correct Answer :-

» Prevent rusting / S BT ABUTH B ﬁfq



Amoeba acquires its food through a process called ./ 3ET Udh uferar & AW | S1UAT
YT WTC el § S Fgandl gl

1. Plasmolysis /W
2. Endocytosis / @m

3. Endosmosis / 3d: TRIRIRUT

4. Exocytosis / Wﬂﬁ—aﬁm

Correct Answer :-

» Endocytosis / @Fﬁﬁﬁm

25) The openings in a cockroach’s body through which it takes in air in its body for respiration are

called /T faarag & IR | 9 g s areaw @ a5 4991 & e o9 sk g arg e
2, 3% HEI I B |

1. spiracles / YTRY
2. hydathodes / STCRY
3. trachea / Y-l
4. nostrils / AMNTgIR

Correct Answer :-

« spiracles / YRRY

26) Identify the feature that is not applicable to ploughing. / 3 o= &t yga™ Piforg E| ﬁ?ﬂg
¥ fore Sugea gt 81

1. It allows the roots to penetrate deep into the soil. / Epany GI@; ‘IENIE&r doh Hal T gfay Sl %l

2. It allows the roots to breathe and brings the nutrient rich soil to the top. / dg GITE?[ DI YT o | &
ST © 3R 2 & N I gar &l A g |

3. It helps in the growth of earthworms and microbes. / U8 aﬂ\’fﬁ 3R ﬁ&ﬂﬁﬂaﬁ Gl q@ & e HRAr gl

4, It protects the crops from getting affected by pests. / g HaIdll o] WRUAAR Y THIAd 819 I srar %I

Correct Answer :-

It protects the crops from getting affected by pests. / g TaIcll bl WRUGAR I THTIAd B4 3 Saar %I

27) Identify the high yielding breed of buffalo from the following. / I & & I Iqure arad
U B} 79 Bt UgT= B

1. Sahiwal / Gfgard

2. Karan fries / I olgel



3. Jersey/\_ﬂﬁ

4. Murrah / H_{f

Correct Answer :-

» Murrah / H}f

28) Identify the correct order of the processes used in the purification of water before supplying it as

drinking water? / USTd & &0 ¥ 3MYfd 11 & Yd 9Td & Y[ IHR01 T UG g arail ufsharaii &
el o H B UgaTd HI?

1. Loading, filtration, chlorination, sedimentation / HIRUI, g, IR, 3/@9Ig

2. Sedimentation, loading, filtration, chlorination / 3{ddTG, HRUI, ﬁ@'ﬁ, FARIA
3. Filtration, sedimentation, loading, chlorination / FREgH, 3{aHTGH, YR, FARIA

4. Chlorination, loading, filtration, sedimentation / ?ﬁhﬂ:FL YR, ﬁl’@iﬂ:f, AdHlq

Correct Answer :-

 Sedimentation, loading, filtration, chlorination / AdHTIG, HIRUI, ﬁ?iia_*f, FARI

29) Spot the WRONG statement about phloem tissue. / FelTTH Sad & A0 | Terd HYF BT

T BT
1. They are living / J Sitfaa %I
2. They have thin walled cells / 375 Udail fHRY areht HIfRIBNT g 51

3. They transport water and minerals from roots to other parts / CEGLCEEIREIED] GI@[ q ST U d%
. %: I

4. They transport food from leaves to other parts / 9 gl § HisH &I S o] fft@?ﬂ?[ %I

Correct Answer :-

o They transport water and minerals from roots to other parts / CEGLCECIREIED] \_FI??T I ST U d%

30) Spot the CORRECT one. / ﬂﬁ ﬁﬁq ﬁﬂ%ﬁ Gl

1. Cells > organelles > organ > organism / ﬁﬁmu > DIRIHAT > 37 > oG

2. Cells > molecules > organelles > organism / a'ﬁm > 3] > 3T > g

3. Cells > tissues > organ > organ system > organism / aﬁﬁmu > 3dd > 3T > 3T 7 > Sfig

4, Atoms > cells > organ system > organism / 3{U] > m > 3T F > Silg

Correct Answer :-

o Cells > tissues > organ > organ system > organism / m >&dd > 3T > T dF > Siig
(35)



